H=LIAXY—=T 59 K

10

HH 4 FEOPH

KE

=ik

TFEER

BRI

&8

R

K3

7

0

AET

N&

=84

X
BHIEXRE

il

—8#

g3l

[ES

0

#Ba

T8

JeEEXE
it

R
3
2

H &K

=

ZB#H
ERFR

EHED
TR

Y

3

1

K4

Bt

«
iz

NEART
B4

IR

ORBAY

SITERM

FRE

RERE

AE4T | MR

g3l

T#
13
28

10
&
16
10
31

32
BB

2
3
1
1
2
2
2
2
0
2
2
38
B5F

HIKIEH
HIKIEH
=8
SEL
IMAT %
23,
FES
BEKTX
HIKEH
RIRKER
HEPE
FHER
I B3 —
SE%
0
0
0
0

BARFE

18
18
18
18

2

3

2

1

3

1

2

2

2

2
HE
fedtTE
BERIX
I B X H B
HEEE

KE
&R
AT
#E
#H
TES
EX))
bi-Fis
X%
At
&

2

2

3

3

R—6
4
K4
PN
1t
BEA

ST R

R—8—9



